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x U BT B 10 3R 7 37 & 1 &% gt § R
JWXH = HoBrH S wrd @Y 1079 14 RA A A WA T 5
®1d B 5 AR aur 10 T e A1 & @
HI? [O [O

|o women can complete a work in 7 days and 10
TW— 10/ )A/X‘{ children take 14 days to complete the same

SN+ oR— v work. How many days will 5 women and 10

WN_ &
& )

=3 children take to complete the work?
a (@) 3 (b) 4

()5 (d) 7
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51X6 «—TW 1 man or 2 women or 3 boys can do a piece
E— VIN of work in 51 days, then in how much time
Im QA 3B 5/9(—34%12 M + 4 W + 9B together can do the same
XSI XS X.S/ work?
L*,;‘:‘fq‘i:c‘%j 1 3meHt a1 2 3RA a1 3 Ted el w1l &Y 51
4 N et # #Y IPd § df 98 F 12M+4W+9B
A+
181 + g g Prere o v 3 730 7
AT 28\ ¢ 3
U™ 3 ) XC= 3 a) 2 )3
c) 4 d)5
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36. 1 man or 2 women or 3 boys can do a piece of
work in 44 days, then in how much time 1M +

1W + 1B together can do the same work?

[TA+ T+ | &
Tg(&v;:%@/ b= L!Lf 1enaﬂ’imzahﬁm3as'&7ﬁwﬁmﬁ
I API T AT F1T 1M + 1W + 1B
Q+3L\+-'s >= b ey fad amg d a3 2
,P/ L‘ va)/24 b) 23
TB:W c) 25 d) None of these
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QYy«— TW 37. If 2 men can do a work in 3 days or 3 women
E= | AN\ in 4 days or 4 boys in 6 days then tell in how
M EX LR many days will 1M + 2W + 4B do the same
X3 X4 R work ?
@ 2o 3R Az siRaaRAdaraaesH 6
fem # it ord &t % T@d § af Farseh i 1m
— + 2W + 4B Il BT B fva fd= d 31 2
;lﬁl o d“g/? \af 2 b) 3
i 6\3—‘ c)4 d)5
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38. 3 ATGHI AT 7 IRA U P 1 32 A A R
ad 81 7 3MeHt 3R 5 R faH? ITF A

W+ K\ - asxa BT B R B -
3%// T 3 men or 7 women finish a work in 32 days. 7
- % D % / men and 5 women together will finish the
RA twice of this work in

B:&lo\ra/& (a) 19 f&T H / 19 days

g 21 RATH / 21 days

(c) 27 @A & / 27 days

(d) 36 f&-TT & / 36 days
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3 men and 2 women can do a piece of work in

(5m+ &\A) Xlo = (SF’H—GN)XS 10 days while 5 men and 6 women can do the

3pM+don = SS5M+30W same work in 5 days then in how many days

will 8 men and 4 women do the same work?

By S 3 geu(al)2 wRkery Reeht @ @t 10 A &
—@@& wiafd 5 99 3R 6 Afgany It &l 3t 5 =
N 5T # WU FYQ & O 8 UIY 3R 4 Al 39
S w7 @ Fred fre 3 4
TL\‘\> §g_ M

6+ . Yy, ¥ 3
N B W s d) 6
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40. 3 men and 4 women can do a piece of work in

@ 10 days while 7 men and 6 women can do the
(5_(*_\1-‘15) X0 = (I"_“‘*GN) ’i5 same work in 5 days then in how many days
will 10 men and 5 women do the same work?
S5M = |oW .
3 UoY 3R 4 Afgand f&ft &=rd &t 10 RS &
ﬁ(jg@’\é waf® 7 goU 3R 6 Afgany It &1 &1 5 el
N 5 # YU $d g df 10 39 3R 5 Afgang g9
N TW- R &1d B fraq i1 4 &3 2
Om+-5, d== 53 -1

:NO\QH/% )5 d) 6
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41. 3 men and 4 women can do a piece of work in
16 days while 4 men and 3 women can do the
same work in 12 days then in how many days

will 7 men and 12 women do the same work?

3 Yoy 3f¥ 4 #igamy &=t &1 &t 16 &A1 #
wafe 4 99 Y 3 Afgeny I & &t 12 2=
H JHTW HId § df 7 TP 3R 12 Afgwne 39
o1 i fba feaf d 91 2
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42. 6 men and 8 women can do a piece of work in
10 days while 26 men and 48 women can do
the same work in 2 days then in how many
days will 15 men and 20 women do the same

work?

6 TV 3M¥ 8 wigane freft &rd &t 10 &1 #
wafe 26 T 3R 48 Afgane I &1 &t 2
fe=T & THTE Hd g @t 15 7Y 3R 20 AfgE
39 & &I fbaq feAf d &3 2
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44. 12 men and 18 women can do a piece of work
in 10 days while 3 men and 18 women can do
the same work in 12 days then in how many
days will 2 men and 3 women do the same

work?

12 I3Y 3R 18 Afgang f&=dt &rd &t 10 fe=1 A
Safe 3 YW Y 18 Afga St &rd #1 12
f & 9o #va § o 2 [P R 3 Afgeny
39 &1 3 fpaq e d &3 2
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45. A daily wage earner gets a daily wage at the rate

6OXISO —> q68o of 150 per day subject to the condition that he will
—1650 have to pay a penalty at the rate of 25 per day for
% /4 the days on which he absent himself. At the end of

of days he worked is -

s e daavhft weigy &1 399 T 150 wfafew @
Afe ufae=r a8 ? 5 o e a8 sufRa g,
39 f&= 2 25 & feama | srfgus 1 811 60 (TTS)
fe=1 ugTq I/ 27,600 B YA Wi gt 71 foraq

F= = & 60 days he gets and amount of 7,600.The number
% a

fAsursmfeaag® -
(a) 54 ﬁ#/ 54 days Mﬁ/SZ fea / 52 days
(c) 51 &1/ 51 days (d) 48 f&s1/ 48 days
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